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Level 3 Biology, 2015

91605  Demonstrate understanding of evolutionary 

processes leading to speciation

2.00 p.m. Monday 23 November 2015 

Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of 
evolutionary processes leading to 
speciation.

Demonstrate in-depth understanding 
of evolutionary processes leading to 
speciation.

Demonstrate comprehensive 
understanding of evolutionary processes 
leading to speciation.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Not Achieved

6

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

























  

Annotated Exemplar Template – Not Achieved 

 

 

exemplar for 91605 -  2015 Total score 6 

Q 
Grade 

score 
Annotation 

1 2 

The candidate has not used their biological knowledge to answer the question, 

instead giving vague and general comments.  They have given an acceptable 

answer for divergent evolution, but the convergent evolution answer would 
need to include that the ‘different species’ they refer to are unrelated 

2 3 

This candidate has stated two trends shown in the resource graphs.  They 

have not given a definition of natural selection as they omitted reproducing 
(and therefore passing those characteristics on) 

3 1 

This answer has not demonstrated understanding of polyploidy.  The 

candidate has provided partial answers only and to a superficial level. 

Polyploidy is 3 or more sets of chromosomes; an example of instant 
speciation; a type of sympatric speciation.  Any of these are examples that 

would have led to a higher grade. 

 


